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1. Consider the graph of the function y = f (x) shown below and the function g defined by the equation

g(x)=—f(-(x-7))-3.

(a) State an equation of f. (2 KU) | (b) Write the transformation

g(x)=—f (—(x—7))—3 using
mapping notation. (2 KU)

(%y)—> ("f"/‘% 73

(c) Describe the transformation in words. (4 KU)
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Horizontal / Vertical

1. Reflect y-axs 1
2. Translale ;"EJH 2. Tronslate 3 }ﬂw"‘

lect 'n a-axis

(d) Apply the transformation to the four key points | (e) Sketch the graph of y=g(x). In addition, state an
Zgyfrr?rl)\tlstr;slr:)g:‘.e tébli Si’ well as to the equation of g based on your graph (6 APP)
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(F) Use an algebraic method to confirm that the equation you stated in (e) i |s correct. (4 APP)
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2. Consider the function f defined by the equation f(x)=|x|. The function g is obtained by performing the

following transformations to f:

Horizontal Transformations

Vertical Transformations

1. Reflect in the y-axis
2. Translate three units to the right

1. Reflect in the x-axis
2. Translate 10 units up

(@) Write the transformation using function notation.
(2 KU)

9(x)= —,&x 3)) +10

(b) Write the transformation using mapping notation.
(2 KU)

(%, y)—> (- x'—r/3 -y+!0)

(c) Write the equation of g using absolute value
notation. (2 KU)

9(x)=-|-(z-3) +10

= -)%~3|+10~"

(d) On the given grid, sketch the graphs of both f and
g. The graph of g should be generated entirely by
using the given transformations. Do not use a
table of values! (6 APP)
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3. Suppose that g(x)=

@

4 8 19536 20

9(x) =—|x-3|+I0

f (—x+7) . Explain why the graph of g can be obtained by using either of the following

sets of transformations given below. Illustrate your answer with a graph. (5 COM, 5 TIPS)

Transformation 1

1. Translate seven units to the left
2. Reflect in the y-axis

Transformation 2

1. Reflect in the y-axis
2. Translate seven units to the right
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@ To understand transforwation R, it is enly necessary

to rewrrte —x+7 as -(x-7) : q x x
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